SMATH : peter.vlasschaert@gmail05/02/2022

ref.youtube, https://www.youtube.com/watch?v=YG7U3ZobplE

this my first sessioin of
smath

use: create text >"

unit use : smath

a:=5m b:=5 ft use: create unit > "'+ tab
s:=a+b
S=6.524mnm

complex number : arithmic

cml =1 cm2:=3.14+5 vem.— /(_1) vem =1
cm:=cml + cm2
cm=5+4.1

exponential ,log,In : arithmic
exp(1)=2.7183 log (10)=2.3026 1n(10)=2.3026
2
log 10(100):2 use 10 =100

vectors & matrices : arithmic

vectors = column matrices, T

r::[123]T v::[456]T

dot product

r.v=232

cross product
-3

rxv=| 6

-3

matrices:rows & columns

100 T
ml: =010 m2 :=ml

001

100
m2=|010

001



matrices:range

T
m3:=[1;1.5..4]

m3=[11.522.533.54]

md=[1234]

differentiation : symbolic, ctrl +. don't use =

first order differentation:

d—sin (x)=cos(x) use:toolbar
d x

higher order differentation:
2

5 sin (x)=-sin(x)  uselower x of the differential ,qwertz ,use : or ,
d x

integration : arithmic, use =,no symbolic use smath without maxima
2
Jﬂsin (x)dx=1.4161
0



